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INTRODUCTION 
This analog kit is for use with the Defender® 5000 TD52 indicators. 
 

INTERFACE INSTALLATION 
 
For TD52P: 

1. Separate the indicator from the base by loosening load cell cable 
male connector. Remove the interface option cover.    

 
2. Break off the rib of the interface option cover as shown. 

 

 

 

Load cell cable connector 

Interface option cover 

Rib 
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3. Connect the 12-pin Cable Connector included with the kit to the 
Main Board Connector 2. Place the ferrite in the slot of the rear 
housing as shown.    

 
4. Install the Analog Current Loop board in the indicator using 2 screws as 

shown. Connect the 12 pin connector cable from the main board to the 
Analog Current Loop board 12 pin connector. 

 
5. Connect the current loop cable to the 3 pin and 3 pin connectors.  

            

Ferrite 

Main board connector 
2 

Cable 

Screw 

12 Pin connector 

3 Pin / 3 Pin connector 

Current Loop Cable 
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In the direction of the arrow (from 
the bottom up) 

Description Pin 

V- Negative voltage output J2 
V+ Positive voltage output 
GND Ground 
I- Negative current output J3 
I+ Positive current output 
GND Ground 

 
6. Fix the cable with the cable tie to avoid falling off from the terminal 

block. Put the Interface option cover back on the terminal.  

             
 
For TD52XW: 

1. Remove the interface option cover. Remove the 6 screws with sealed 
washers. Remove the M25 hole plug as shown. 

              

Nylon cable tie 

Load cell cable connector 

Screws 

M25 Hole plug  
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2. Rotate the rear housing down away from the front housing as 
shown. 

                   
3. Connect the 12-pin Cable Connector included with the kit to the 

Main Board Connector 2. Place the ferrite in the slot of the black 
part as shown.  

 
4. Disassemble the M25 Cable Gland by loosening the cap nut and removing 

the rubber seal.  Pass the Current Loop Output cable through the cap nut, 
then spread the rubber seal and place it over the cable.  Now pass the 
cable through the body of the cable gland. 

             

Main board connector 2 

Ferrite 

Cable 

M25 Gland 

Cap nut 

4~20mA Current loop 
output cable 
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5. Install the relay board. Secure it with 2 screws to Boss Post 5 and 
7 as shown. 
Connect the 12 pin connector cable from the main board to the 
Analog Current Loop board 12 pin connector.   
 

 
 

6. Pass the Current Loop Output cable through the M25 hole. 
Connect it to the 3 pin and 3 pin connector as shown below. 
 

 
 

7. Put the rear housing back on the front housing. Re-install the 6 
screws.  

                      

Boss post 5, 7 

Screw 

3 Pin / 3 Pin connector  

12 Pin connector  

Cable  

 Current Loop Cable  
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8. Fasten the cap nut of M25 gland to the rear housing. 

              
9. Warp the rubber seal onto the Current Loop Output cable and push 

it to the hole. 

            
10. Fasten the cap nut of M25 gland. 

 
 

 

 

 

 

Cap nut of M25 gland 

Rubber seal 
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For TD52XW with reversed rear cover: 

1. Remove the interface option cover. Remove the 6 screws with 
sealed washer. Remove the M25 hole plug as shown. 

    

 
2. Take the rear housing down from the front housing as shown. 

               
 
 
 
 
 
 
 
 

Load cell cable connector 

Screws 

M25 Hole plug  
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3. Connect the cable to the main board connector 2.  

 
 

4. Disassemble the cable gland by loosening the cap nut and 
removing the rubber seal.  Pass the relay output through the cap 
nut, then spread the rubber seal and place it over the cable.  Now 
pass the cable through the body of the cable gland. 

     
 
 

 

 

 

 

 

 

Cable  

M25 Gland 

Cap nut 

4~20mA Current loop 
output cable 

Main board connector 2 
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5. Install the current loop board. Secure the relay board with 2 screws 
(Note: the boss post is 6, 8). Connect the cable to the relay board 
12 pin connector (Note: the ferrite needs to be positioned nearby 
the interface option board 12 pin connector).  

 
 

6. Put the current loop cable through the M25 hole. Connect it to the 3 
pin and 3 pin connectors.  

 

 

 

12 Pin connector 

Screw 

Ferrite 

Boss post 6, 8 

3 Pin / 3 Pin connector 

Cable 



EN-10 
 

7. Fasten the cap nut of M25 gland to rear housing. 

             
8. Warp the rubber seal onto Current Loop Output cable and Push it to the 

hole. 

          
9. Fasten the cap nut of M25 gland.  

 

ANALOG CONFIGURATION 
Communication Options (bold is default) 

Analog 

Source None, Displayed Weight, ABS-Displayed Weight, 
Gross Weight 

Output Type 4-20mA, 0-10V 
Zero Value 0 (any valid value below the upper limit) 
Full Scale Value Desired source value, scale capacity 
Cal Output Zero  
Cal Output Full   

Cap nut of M25 gland 

Rubber seal 

Cap nut of M25 gland 
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SPECIFICATION 
The analog output provides an isolated 4-20 mA or 0-10 VDC analog signal. The 
analog output uses a 16-bit D/A converter for a very precise output. 

 0-10 VDC 4-20mA 
Maximum Cable Length 50 ft (15.2 m) 1000 ft (300 m) 
Recommended Wire Size 0.5mm2   
Min/Max Load Resistance 100k ohms minimum 500 ohms maximum 
Nonlinearity <0.3 %F.S 
Outputs 1 channel capable of supplying 4-20 mA or 0-10 

VDC 
Resolution 16 bit resolution, 65536 levels across entire range 

 
Note: If the load resistance ratings are exceeded, the analog output will not operate 
properly. 
 

ANALOG OUTPUT CONFIGURATION 
The output signals will be at the lower limit (0 VDC or 4 mA) when the value 
represented is at the zero value. When the value reaches full scale value, the 
output signal will increase to the high limit (10 VDC or 20 mA). Any value between 
zero and full scale value will be represented as a percentage of the output 
proportional to the percentage of the value. 

The ABS (absolute) displayed weight is used when material is being transferred 
off of a scale in Net mode. In this case, the displayed weight will be negative, but 
the analog output signal will use its absolute value. The output signal will increase 
as the absolute weight value increases. 

The selection of Source and Output Type determine the analog output when the 
scale is under load or over load. Refer to the table below: 

Source = Displayed Weight, Output Type = 4-20 mA 
Under Load When the displayed weight (gross or net) drops below zero, 

the analog signal keeps decreasing. When it reaches the 
under load point, or it is lower than the lower limit of analog 
signal range, the analog output will switch to approximately 0 
mA immediately. In this case, the output remains 0 mA, or it 
will output correctly. 

Over Load When the displayed weight (gross or net) exceeds the over 
load, the 
analog signal keeps increasing. When it reaches the over load 
point, or it is higher than the higher limit of analog signal range, 
the analog output will switch to approximately 24 mA 
immediately. In this kind of situation, the output remains 24 
mA, or it will output correctly. 
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Source = ABS - Displayed Weight, Output Type = 4-20 mA 
Under Load 
 

When the ABS - displayed weight increases, the analog output 
signal keeps increasing towards the maximum output (20 mA). 
When it reaches the under load point, the analog output 
switches to approximately 0 mA immediately. In this kind of 
situation, the output remains 0 mA, or it will output correctly. 

Over Load It is possible only when weighing is in the gross mode; it 
works the same way as the standard “Displayed Weight” 
setting in this case.     

Source = Gross Weight, Output Type = 4-20 mA 
Under Load When the gross weight drops below zero, the analog signal 

keeps decreasing. When it reaches the under load point, or it 
is lower than the lower limit of analog signal range, the analog 
output will switch to approximately 0 mA immediately. In this 
case, the output remains 0 mA, or it will output correctly. 

Over Load When the gross weight exceeds the over load, the analog 
signal continues to increase. When the over load point is 
reached, or the analog signal positive range is exceeded, the 
analog output immediately switches to approximately 24 mA 
and remains there until the display weight is no longer over 
load or the analog signal returns to within the range. 

Source = Displayed Weight, Output Type = 0-10 VDC 
Under Load When the displayed weight (gross or net) drops below zero, 

the analog signal keeps decreasing. When it reaches the 
under load point, or it is lower than the lower limit of analog 
signal range, the analog output will switch to approximately -
2.4 VDC immediately. In this kind of situation, the output 
remains -2.4 VDC mA, or it will output correctly. 

Over Load When the displayed weight (gross or net) exceeds the over 
load, the 
analog signal keeps increasing. When it reaches the over load 
point, or it is higher than the higher limit of analog signal range, 
the analog output will switch to approximately 12.5 VDC 
immediately. In this kind of situation, the output remains 12.5 
VDC mA, or it will output correctly. 

Source = ABS - Displayed Weight, Output Type = 0-10 VDC 
Under Load 
 

When the ABS - displayed weight increases, the analog output 
signal keeps increasing towards the maximum output (10 
VDC). When it reaches the under load point, the analog output 
switches to approximately -2.4 VDC immediately. In this kind 
of situation, the output remains -2.4 VDC, or it will output 
correctly. 
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Over Load It is possible only when weighing is in gross mode; it works the 
same as the standard “Displayed Weight” setting in this case. 

Source = Gross Weight, Output Type = 0-10 VDC 
Under Load When the gross weight drops below zero, the analog signal 

keeps decreasing. When it reaches the under load point, or it 
is below the lower limit of analog signal range, the analog 
output will switch to approximately -2.4 VDC immediately. In 
this kind of situation, the output remains -2.4 VDC mA, or it will 
output correctly. 

Over Load When the gross weight exceeds the over load, the 
analog signal keeps increasing. When it reaches the over load 
point, or it is higher than the upper limit of analog signal range, 
the analog output will switch to approximately 12.5 VDC 
immediately. In this case, the output remains 12.5 VDC mA, 
or it will output correctly. 

Note: 
1. The Source option can be set to None, Displayed Weight, ABS Displayed 

Weight, Gross Weight. None disables the analog output. When Displayed 
Weight is selected, the analog signal is based on the displayed net or gross 
weight. When Gross Weight is selected, the analog signal is based on the gross 
weight regardless of what the net weight might be. 

2. The Output Type can be set to 4-20mA or 0-10V.    
3. If the reading of the scale is Zero Value, the analog signal output will be 4 mA 

or 0V. Typically, this will be "0", and any value below the upper limit is available.    
4. If the reading of the scale is Full Scale Value, the analog signal output will be 

20 mA or 10V. Typically, this will be the scale capacity, but it could be lower.    
5. After select Cal Output Zero or Cal Output Span submenu, the analog output 

can be adjusted to meet the customer's requirements using the soft keys. The 
soft key is defined as follows: 

Soft key 1 Coarse 
Down 

It adjusts the analog signal level down in large steps 

Soft key 2 Fine Down It adjusts the analog level down in small steps. 
Soft key 3 Exit It exits the sub-menu. 
Soft key 4 Coarse Up It adjusts the analog signal level up in large steps. 
Soft key 5 Fine Up It adjusts the analog signal level up in small steps. 
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INTRODUCCIÓN 
Este kit analógico se utiliza con los indicadores Defender® 5000 TD52. 

INSTALACIÓN DE LA INTERFAZ 
Para TD52P: 

1. Separe el indicador de la base aflojando el conector del cable macho para la celda de 
carga. Retire la cubierta de la interfaz. 

 
2. Cortar la lengüeta de la cubierta de la interfaz, como se muestra. 

 
 

 

 

 

 

conector macho del cable de 
la celda de carga 

cubierta de opción de interfaz 

costilla 
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3. Conectar el cable al conector 2 de la placa principal como se muestra. Colocar la ferrita en 
la ranura de la carcasa trasera, como se muestra.    

 
 

4. Instalar la placa de bucle de corriente.  Fijarla por mediación de los 2 tornillos. Conectar el 
cable al conector de 12 pines de la placa de bucle de corriente. 

 
5. Conectar el cable de bucle de corriente a los conectores de 3 pines. 

 

            

Ferrito 

conector de la placa 
principal 2 

cable 

tornillo 

Conector de 12 pines 

Conectores de 3 pines / 3 pines 

Cable de bucle de corriente 
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En la dirección de la flecha (de abajo 
hacia arriba) 

Descripción Pin 

V- Salida de voltaje negativo J2 
V+ Salida de voltaje positivo 
GND Suelo 
I- Salida de corriente negativa J3 
I+ Salida de voltaje positivo 
GND Suelo 

 
6. Fijar el cable por mediación de la brida. Colocar la cubierta de la interfaz de nuevo en el 

dispositivo.  

             
 

             

Para TD52XW: 

1. Retirar la cubierta de la interfaz. Quitar los 6 tornillos con las arandelas de sellado. Retirar 
el tapón M25, como se muestra. 
 

              

atadura de cables 
de nylon 

conector hembra del cable de la celda 
de carga 

empulgueras 

Enchufe M25 
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2. Separar la carcasa trasera de la carcasa frontal como se muestra. 

                   

3. Conectar el cable al conector 2 de la placa principal. Colocar la ferrita en la ranura de la 
parte negra, como se muestra.  
 

 
 

4. Desmontar el prensaestopas aflojando la tuerca ciega y retirando la junta de goma.  Pasar 
la salida de relé a través de la tuerca ciega, después extender la junta de goma y colocarla 
sobre el cable.  A continuación, pasar el cable a través del prensaestopas. 
 

             

conector de la placa principal 2 

ferrito 

cable 

Glándula M25 

tuerca ciega 

Cable de salida de bucle 
de corriente de 4-20 mA
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5. Instalar la placa de relé. Fijarla por mediación de los 2 tornillos. (Nota: los puntos 
principales de fijación son 5 y 7). 
Conectar el cable al conector de 12 pines de la placa de bucle de corriente. 
 

 
 

6. Introducir el cable de bucle de corriente en el orificio M25. Conectarlo a los conectores a 
los conectores de 3 pines. 

 

 
 

7. Colocar nuevamente la carcasa trasera en la carcasa frontal. Colocar los 6 tornillos.  

                      
 

 
 

publicación del 
jefe 5,7 

tornillo 

Conector de 3 pines / 3 

Conector de 12 pines 

Cable de bucle de corriente 

 Cable de bucle de corriente 
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8. Fijar la tuerca ciega del prensaestopas M25 a la carcasa trasera. 
 

              
9. Colocar la junta de goma en el Cable de salida del bucle de corriente e introducirlo en el 

orificio. 

            
Para el TD52XW con cubierta trasera invertida: 

1. Retirar la cubierta de la interfaz. Quitar los 6 tornillos con las arandelas de sellado. Retirar 
el tapón M25, como se muestra. 
 

    

 
 

tuerca de casquillo de la 
glándula M25 

Junta de goma 

Tapón de orificio M25 

tornillo 

conector hembra del cable de la celda de 
carga 
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2. Separar la carcasa trasera de la carcasa frontal como se muestra. 

               

3. Conectar el cable al conector 2 de la placa principal. 
 

 
4. Desmontar el prensaestopas aflojando la tuerca ciega y retirando la junta de goma.  Pasar 

la salida de relé a través de la tuerca ciega, después extender la junta de goma y colocarla 
sobre el cable.  A continuación, pasar el cable a través del prensaestopas. 
 

     
 

Cable  

conector de la placa principal 2 

M25 Gland 

Tuerca 

Cable de salida de bucle 
de corriente de 4-20 mA
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5. Instalar la placa de bucle de corriente. Fijar la placa de relé por mediación de 2 tornillos 
(Nota: los puntos principales son 6 y 8). Conectar el cable al conector de 12 pines de la 
placa de relé (Nota: la ferrita debe colocarse cerca del conector de 12 pines de la placa de 
interfaz).  
 

 
6. Introducir el cable de bucle de corriente en el orificio M25. Conectarlo a los conectores a 

los conectores de 3 pines.  
 

 
 

         
 

Conector de 12 pines 

tornillo 

ferrito 

publicación del jefe 6,8 

Conector de 3 pines / 3 pines 

Cable de bucle de corriente 
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7. Fijar la tuerca ciega del prensaestopas M25 a la carcasa trasera. 
 

             
8. Colocar la junta de goma en el cable Ethernet e introducirlo en el orificio. 

 

          
9. Fijar la tuerca ciega del prensaestopas M25.  

 
 

CONFIGURACIÓN ANALÓGICA 
Comunicación Opciones (valor predeterminado en negrita) 

Analógico 

Fuente Ninguno, peso indicado, peso indicado (ABS), peso bruto 
Tipo de salida 4-20 mA, 0-10 V 
Valor cero 0 (cualquier valor válido por debajo del límite superior) 
Valor total de la 
báscula Valor deseado de la fuente, capacidad de la báscula 

Cal. Salida cero 
Cal. Salida completa   

tuerca de casquillo de la 
glándula M25 

Junta de goma 

tuerca de casquillo de la 
glándula M25 



ES-10 
 
ESPECIFICACIONES 
La salida analógica proporciona una señal analógica aislada de 4-20 mA o 0-10 VDC. La salida 
analógica utiliza un convertidor de 16-bit D/A para un resultado altamente preciso. 

 0-10 VDC 4-20 mA 
Longitud máxima del cable 50 ft (15.2 m) 1000 ft (300 m) 
Tamaño de cable recomendado 0.5mm2   
Resistencia mín./máx. de carga Mínimo 100 k ohmios Máximo 500 ohmios 
No linealidad <0.3 %F.S 
Resultados 1 canal capaz de suministrar 4-20 mA o 0-10 VDC 
Resolución Resolución de 16 bit, 65536 niveles a través de toda la gama 

 

Nota: si se excede la capacidad de resistencia de carga, la salida analógica no funcionará 
correctamente. 
 

CONFIGURACIÓN DE LA SALIDA ANALÓGICA 
Las señales de salida estarán en el límite inferior (0 VDC o 4 mA) cuando el valor representado es 
cero. Cuando el valor alcanza el valor total de la báscula, se incrementará la señal de salida (10 VDC 
o 20 mA). Cualquier valor entre cero y el valor total de la báscula se representará como un porcentaje 
de la salida proporcional al porcentaje del valor. 

El ABS displayed weight (peso indicado absoluto) se utiliza cuando el material se transfiere a una 
báscula en modo «neto». En este caso, el peso indicado será negativo, pero la señal de salida 
analógica utilizará su valor absoluto. La señal de salida aumentará a medida que se incrementa el 
valor del peso absoluto. 

La selección de Fuente y Tipo de salida determinan la salida analógica cuando la báscula tiene 
carga baja o sobrecarga. Consultar la tabla a continuación: 

Fuente = peso indicado, tipo de salida = 4-20 mA 
Carga baja Cuando el peso indicado (bruto o neto) cae por debajo de cero, la señal analógica 

sigue disminuyendo. Cuando alcanza el punto de carga baja, o es menor que el 
límite inferior del rango de la señal analógica, la salida analógica pasará 
inmediatamente a aproximadamente 0 mA. En este caso, la salida sigue siendo 0 
mA, o se emite correctamente. 

Sobrecarga Cuando el peso indicado (bruto o neto) excede la sobrecarga, la señal analógica 
sigue aumentando. Cuando alcanza el punto de sobrecarga, o es mayor que el límite 
superior del rango de la señal analógica, la salida analógica pasará inmediatamente 
a aproximadamente 24 mA. En este caso, la salida sigue siendo 24 mA, o se emite 
correctamente. 

Fuente = peso indicado (ABS), tipo de salida = 4-20 mA 
Carga baja 
 

Cuando el peso indicado (ABS) aumenta, la señal de salida analógica sigue 
aumentando hasta la salida máxima (20 mA). Cuando alcanza el punto de carga 
baja, la salida analógica cambia inmediatamente a aproximadamente 0 mA. En este 
caso, la salida sigue siendo 0 mA, o se emite correctamente. 

Sobrecarga Esto es posible solamente cuando el pesaje se encuentra en el modo «bruto»; 
funciona en este caso de la misma manera que la configuración estándar «Peso 
indicado».     
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Fuente = peso bruto, tipo de salida = 4-20 mA 
Carga baja Cuando el peso bruto cae por debajo de cero, la señal analógica sigue 

disminuyendo. Cuando alcanza el punto de carga baja, o es menor que el límite 
inferior del rango de la señal analógica, la salida analógica pasará inmediatamente a 
aproximadamente 0 mA. En este caso, la salida sigue siendo 0 mA, o se emite 
correctamente. 

Sobrecarga Cuando el peso bruto excede la sobrecarga, la señal analógica sigue aumentando. 
Cuando se alcanza el punto de sobrecarga, o se excede el rango positivo de la señal 
analógica, la salida analógica cambia inmediatamente a aproximadamente 24 mA y 
permanece allí hasta que el peso indicado ya no es de sobrecarga o la señal 
analógica vuelve a estar dentro del rango. 

Fuente = peso indicado, tipo de salida = 0-10 VDC 
Carga baja Cuando el peso indicado (bruto o neto) cae por debajo de cero, la señal analógica 

sigue disminuyendo. Cuando alcanza el punto de carga baja, o es menor que el 
límite inferior del rango de la señal analógica, la salida analógica pasará 
inmediatamente a aproximadamente -2.4 VDC. En este caso, la salida sigue siendo -
2.4 VDC mA, o se emite correctamente. 

Sobrecarga Cuando el peso indicado (bruto o neto) excede la sobrecarga, la señal analógica 
sigue aumentando. Cuando alcanza el punto de sobrecarga, o es mayor que el límite 
superior del rango de la señal analógica, la salida analógica pasará inmediatamente 
a aproximadamente 12.5 VDC. En este caso, la salida sigue siendo 12.5 VDC mA, o 
se emite correctamente. 

Fuente = peso indicado (ABS), tipo de salida = 0-10 VDC 
Carga baja 
 

Cuando el peso indicado (ABS) aumenta, la señal de salida analógica sigue 
aumentando hasta la salida máxima (10 VDC). Cuando alcanza el punto de carga 
baja, la salida analógica cambia inmediatamente a aproximadamente -2.4 VDC. En 
este caso, la salida sigue siendo -2.4 VDC, o se emite correctamente. 

Sobrecarga Esto es posible solamente cuando el pesaje se encuentra en el modo «bruto»; 
funciona en este caso de la misma manera que la configuración estándar «Peso 
indicado». 

Fuente = peso bruto, tipo de salida = 0-10 VDC 
Carga baja Cuando el peso bruto cae por debajo de cero, la señal analógica sigue 

disminuyendo. Cuando alcanza el punto de carga baja, o está por debajo del límite 
inferior del rango de la señal analógica, la salida analógica pasará inmediatamente a 
aproximadamente -2.4 VDC. En este caso, la salida sigue siendo -2.4 VDC mA, o se 
emite correctamente. 

Sobrecarga Cuando el peso bruto excede la sobrecarga, la señal analógica sigue aumentando. 
Cuando alcanza el punto de sobrecarga, o es mayor que el límite superior del rango 
de la señal analógica, la salida analógica pasará inmediatamente a 
aproximadamente 12.5 VDC. En este caso, la salida sigue siendo 12.5 VDC mA, o 
se emite correctamente. 
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Nota: 
1. La opción Fuente se puede establecer en Ninguno, Peso indicado, Peso indicado (ABS), 

Peso bruto. Ninguno desactiva la salida analógica. Cuando se selecciona Peso indicado, la 
señal analógica se basa en el peso bruto o neto indicado. Cuando se selecciona Peso bruto, la 
señal analógica se basa en el peso bruto independientemente de cuál sea el peso neto. 

2. El tipo de salida se puede configurar a 4-20 mA o 0-10 V.    
3. Si la lectura de la escala es Valor cero, la salida de señal analógica será de 4 mA o 0 V. Por lo 

general, esto será «0», y cualquier valor por debajo del límite superior está disponible.    
4. Si la lectura de la báscula es Valor total de la báscula, la salida de señal analógica será de 20 

mA o 10V. Por lo general, esta será la capacidad de la báscula, pero podría ser inferior.    
5. Después de seleccionar el submenú Cal. salida cero o Cal. salida span, la salida analógica 

puede ajustarse para satisfacer las necesidades del cliente utilizando los botones multifunción. 
El botón multifunción se define de la siguiente manera: 
 

Botón multifunción 1 Coarse Down Ajusta hacia abajo el nivel de la señal analógica en 
valores grandes 

Botón multifunción 2 Fine Down Ajusta hacia abajo el nivel de la señal analógica en 
valores pequeños. 

Botón multifunción 3 Exit Sale del submenú. 
Botón multifunción 4 Coarse Up Ajusta hacia arriba el nivel de la señal analógica en 

valores grandes. 
Botón multifunción 5 Fine Up Ajusta hacia arriba el nivel de la señal analógica en 

valores pequeños 
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INTRODUCTION 
Ce kit analogue est conçu pour être utilisateur avec les indicateurs Defender® 5000 TD52. 

INSTALLATION DE L’INTERFACE 
Pour TD52P: 

1. Séparer l'indicateur de la base en desserrant le connecteur mâle du câble de la cellule de 
charge. Retirez le capot de l'option de l'interface.   
 

 
2. Casser la nervure de l’option d’interface tel qu’indiqué. 

 

 
 

 
 

 

Connecteur mâle du câble de 
la cellule de charge 

interface de couverture 
d'option 

nervure 
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3. Connecter le câble au connecteur 2 du tableau principal comme indiqué Placer la ferrite 
dans la fente du boîtier arrière comme indiqué.    

 
4. Installer le tableau du courant de circuit.   Sécuriser avec 2 vis. Connecter le câble au 

tableau du câble de circuit actuel à 12 broches. 

 
5. Connecter le câble de circuit aux 3 broches et aux connecteurs à 3 broches. 

 

            

ferrite 

connecteur de la carte 
principale 2 

câble 

vis 

Connecteur 
12 broches 

Connecteurs 3 broches / 3 
broches 

câble de boucle de courant 
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Dans le sens de la flèche (de bas en haut) La description broche 
V- Sortie de tension négative J2 
V+ Sortie de tension positive 
GND Sol 
I- Sortie de courant négatif J3 
I+ Sortie de tension positive 
GND Sol 
 

6. Fixer le câble avec l’attache de câble. Remettre le couvercle d’option de l’interface sur le 
terminal.  

             
 
 

Pour TD52XW: 

1. Retirer le couvercle d’option de l’interface. Retirer les 6 vis avec la rondelle scellée. Retirer 
le bouchon du trou M25 comme indiqué. 

              

attache-câble en 
nylon 

connecteur de câble de cellule de 
charge 

vis 

Bouchon de trou M25 
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2. Retirer le boîtier arrière du boîtier avant comme indiqué. 

 
3. Connecter le câble au connecteur 2 du tableau principal. Placer la ferrite dans la fente du 

boîtier arrière comme indiqué. 
 

 
 

4. Démonter la glande du câble en desserrant l’écrou borgne et en retirant le joint en 
caoutchouc.  Passer la sortie du relais à travers l’écrou borgne, répandre le joint de 
caoutchouc et le placer sur le câble.  Passer à présent le câble à travers le corps de la 
glande du câble. 
 

             

connecteur de la carte principale 2 

ferrite 

câble 

Glande M25 

bouchon 

Câble de sortie de boucle 
de courant 4-20mA 
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5. Installer le tableau du relais. Sécuriser avec 2 vis. (Remarque:  Le poste est 5 et 7) 
Connecter le câble au tableau du câble de circuit actuel au connecteur à 12 broches. 
 
 

 
 

6. Passer le câble de circuit à travers le trou M25. Connecter le câble à 3 broches et au 
connecteur à 3 broches. 
 
 

 
 

7. Remettre le boîtier arrière sur le boîtier avant. Installer les 6 vis à nouveau.  
 

                      
 

patron 5,7 

vis 

Connecteur 3 broches / 3 
broches 

Connecteur 12 
broches 

câble de boucle de courant 

câble de boucle de courant 
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8. Serrer l’écrou borgne de la glande M25 sur le boîtier arrière.  

              
9. Enrouler le joint en caoutchouc sur le Câble de sortie de boucle de courant et pousser dans 

le trou.  

            
TD52XW avec le couvercle arrière inverse: 

1. Retirer le couvercle d’option de l’interface. Retirer les 6 vis avec la rondelle scellée. Retirer 
le bouchon du trou M25 comme indiqué. 
 

    

 
 
 
 

écrou borgne de la glande M25 

joint en caoutchouc 

connecteur de câble de cellule de 
charge 

Vis 

Bouchon de trou M25 
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2. Retirer le boîtier arrière du boîtier avant comme indiqué. 

            

3. Connecter le  câbleau connecteur 2 du tableau principal. 

 
 

4. Démonter la glande du câble en desserrant l’écrou borgne et en retirant le joint en 
caoutchouc.  Passer la sortie du relais à travers l’écrou borgne, répandre le joint de 
caoutchouc et le placer sur le câble.  Passer à présent le câble à travers le corps de la 
glande du câble. 
 

     

câble 

connecteur de la carte 
principale 2 

M25 Gland 

bouchon 
écrou 

Câble de sortie de boucle 
de courant 4-20mA 



FR-8 
 

5. Installer le tableau du courant de circuit. Sécuriser le tableau de relais avec 2 vis 
(Remarque: le poste est 6, 8). Connecter le câble au tableau de relais du connecteur à 12 
broches (Remarque: la ferrite doit être positionnée à proximité de l’option d’interface du 
connecteur à 12 broches).  
 

 
6. Passer le câble de circuit à travers le trou M25. Connecter le câble à 3 broches et au 

connecteur à 3 broches.  
 

 
 

 
 

Connecteur 12 broches 

vis 

ferrite 

patron 6,8 

Connecteur 3 broches / 3 
broches 

câble de boucle de courant 



FR-9 
 

7. Serrer l’écrou borgne de la glande M25 sur le boîtier arrière. 
 

             
8. Enrouler le joint en caoutchouc sur le câble Ethernet et pousser dans le trou. 

 

          
9. Serrer la glande de l’écrou borgne. 

 

CONFIGURATION ANALOGUE 
Communication Options (gras est par défaut) 

Analogue 

Source Aucun, poids affiché, ABS-poids affiché, poids brut 
Type de sortie 4-20mA, 0-10V 
Valeur zéro 0 (Toute valeur valide en deçà de la limite élevée) 
Valeur de 
l’échelle entière Valeur de source souhaitée, capacité d’échelle 

Cal de sortie zéro 
Cal de sortie 
entière   

écrou borgne de la glande M25 

joint en caoutchouc 

écrou borgne de la glande M25 
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SPÉCIFICATION 
La sortie analogue fournit un signal analogue isolé de 4-20 mA ou 0-10 VDC. La sortie analogue 
utilise un convertisseur de 16-bit D/A pour un résultat très précis. 

 0-10 VDC 4-20mA 
Longueur maximale du câble 50 pi (15,2 m) 1000 pi/(300 m) 
Taille de fil recommandée 0.5mm2   
Résistance de charge max/min 100k ohms minimum 500 ohms maximum 
Non-linéarité <0.3 %F.S 
Sortie 1 canal capable d’alimenter 4-20 mA ou 0-10 VDC 
Résolution Résolution 16 bits, 65536 niveaux à travers la plage entière 

 
Remarque: Si les notations de résistance de charge sont dépassées, la sortie analogue ne 
fonctionnera pas correctement.  
 
 

CONFIGURATION DE SORTIE ANALOGUE 
Les signaux de sortie seront à la limite inférieure (0 VDC or 4 mA) lorsque la valeur représentée est à 
la zéro. Lorsque la valeur atteint la valeur d’échelle pleine, le signal de sortie augmente à la limite 
supérieure (10 VDC ou 20 mA).  Toute valeur entre zéro et la valeur d’échelle pleine sera représentée 
comme pourcentage de sortie proportionnelle au pourcentage de la valeur.  

ABS poids affiché (absolu) s est utilisé lorsque le matériel est transféré d’échelle éteinte au mode 
net. Dans ce cas, le poids affiché sera négatif, mais le signal de sortie analogue utilisera sa valeur 
absolue.  Le signal de sortie augmente lorsque la valeur du poids augmente.  

La sélection du Type de source et de sortie détermine la sortie analogue lorsque la balance est en 
sous charge ou en surcharge. . Se référer au tableau suivant:  

Source = Poids affiché, Type de sortie = 4-20 mA 
Sous charge Lorsque le poids affiché (brut ou net) descend en dessous de zéro, le signal 

analogue continue de descendre.  Lorsqu’il atteint le point de sous charge, ou 
lorsqu’inférieur à la limite inférieure de la plage du signal analogue, la sortie analogue 
bascule immédiatement à environ 0 mA.  Dans ce cas, la sortie reste à 0mA ou la 
sortie fonctionne correctement.  

Surcharge Lorsque le poids affiché (brut ou net) descend en dessous de zéro, 
le signal analogue continue de descendre. Lorsqu’il atteint le point de sur charge, ou 
lorsque supérieur à la limite supérieure de la plage du signal analogue, la sortie 
analogue bascule immédiatement à environ 24 mA. Dans ce cas, la sortie reste à 24 
mA ou la sortie fonctionne correctement. 

Source =ABS- Poids affiché, Type de sortie = 4-20 mA 
Sous charge 
 

Lorsqu’ABS affiche des augmentations de poids, le signal de sortie analogue 
continue de monter vers la sortie maximale (20mA).  Lorsque ça atteint le point de 
sous charge, la sortie analogue bascule immédiatement à environ 0 mA. Dans ce 
cas, la sortie reste à 0 mA ou la sortie fonctionne correctement. 

Surcharge C’est possible uniquement lors du pesage en mode brut, il fonctionne de la même 
manière que le réglage standard du « poids affiché » dans ce cas.      
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Source = Poids brut, Type de sortie = 4-20 mA 
Sous charge Lorsque le poids brut affiché descend en dessous de zéro, le signal analogue 

continue de descendre. Lorsqu’il atteint le point de sous charge, ou lorsqu’inférieur à 
la limite inférieure de la plage du signal analogue, la sortie analogue bascule 
immédiatement à environ 0 mA. Dans ce cas, la sortie reste à 0mA ou la sortie 
fonctionne correctement. 

Surcharge Lorsque le poids brut affiché dépasse la surcharge, 
le signal analogue continue de monter. Lorsque le point de surcharge est atteint, ou 
lorsque la plage du signal positif analogue est dépassé, la sortie analogue bascule 
immédiatement à environ 24mA et demeure ainsi jusqu’à ce que le poids affiché ne 
soit plus une surcharge ou jusqu’à ce que le signal analogue retourne dans la plage.  

Source = Poids affiché, Type de sortie = -0-10 VDC 
Sous charge Lorsque le poids affiché (brut ou net) descend en dessous de zéro, le signal 

analogue continue de descendre. Lorsqu’il atteint le point de sous charge, ou 
lorsqu’inférieur à la limite inférieure de la plage du signal analogue, la sortie analogue 
bascule immédiatement à environ -2,4 VDC. Dans ce cas, la sortie reste à  -2.4 VDC 
mA ou la sortie fonctionne correctement. 

Surcharge Lorsque le poids affiché (brut ou net) descend en dessous de zéro, 
le signal analogue continue de descendre. Lorsqu’il atteint le point de sur charge, ou 
lorsque supérieur à la limite supérieure de la plage du signal analogue, la sortie 
analogue bascule immédiatement à environ 12,5 VDC. Dans ce cas, la sortie reste à  
12.5 VDC mA ou la sortie fonctionne correctement. 

Source = ABS - Poids affiché, Type de sortie = -0-10 VDC 
Sous charge 
 

Lorsqu’ABS affiche des augmentations de poids, le signal de sortie analogue 
continue de monter vers la sortie maximale (10 VDC). Lorsque ça atteint le point de 
sous charge, la sortie analogue bascule immédiatement à environ  -2.4 VDC.  Dans 
ce cas, la sortie reste à  -2.4 VDC ou la sortie fonctionne correctement. 

Surcharge C’est possible uniquement lors du pesage en mode brut, il fonctionne de la même 
manière que le réglage standard du « poids affiché » dans ce cas. 

Source = Poids brut, Type de sortie = -0-10 VDC 
Sous charge Lorsque le poids brut affiché descend en dessous de zéro, le signal analogue 

continue de descendre. Lorsqu’il atteint le point de sous charge, ou lorsqu’inférieur à 
la limite inférieure de la plage du signal analogue, la sortie analogue bascule 
immédiatement à environ -2,4 VDC. Dans ce cas, la sortie reste à  -2.4 VDC mA ou 
la sortie fonctionne correctement. 

Surcharge Lorsque le poids brut affiché dépasse la surcharge, 
le signal analogue continue de monter. Lorsqu’il atteint le point de sur charge, ou 
lorsque supérieur à la limite supérieure de la plage du signal analogue, la sortie 
analogue bascule immédiatement à environ 12,5 VDC. Dans ce cas, la sortie reste à  
12.5 VDC ou la sortie fonctionne correctement. 
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Remarque: 
1. L’option Source pourrait être réglé sur Aucune, Poids affiché, ABS, poids affiché, poids brut. 

Aucun désactive la sortie analogue. Lorsque Poids affiché est sélectionné, le signal analogue 
se base sur le poids net ou brut affiché. Lorsque Poids affiché est sélectionné, le signal 
analogue se base sur le poids net ou brut affiché quelque soit la valeur du poids net.  

2. Le type de sortie pourrait être réglé à 4-20mA ou 0-10V.    
3. Si la lecture de la balance est sur la  valeur zéro, le signal analogue sera 4 mA ou 0V. 

Typiquement, ce sera « 0 » et toute autre valeur en dessous de la limite supérieure disponible.    
4. Si la lecture de la balance est sur la  valeur de la balance pleine, le signal analogue sera 20 

mA ou 10V. Typiquement, ce sera la capacité de la balance et ça pourra être en dessous.     
5. Après avoir sélectionné Cal de sortie zéro ou Cal de sortie du plateau dans le sous menu, la 

sortie analogue pourrait être réglé pour répondre aux exigences du client en utilisant les touches 
douces. Les touches douces sont définies de la manière suivante:  
 

Touche douce 1 Brut Elle ajuste le niveau du signal analogue en grandes étapes.  
Touche douce 2 Juste Elle ajuste le niveau du signal analogue en petites étapes. 
Touche douce 3 Quitter Quitter le sous menu. 
Touche douce 4 Haut Elle ajuste vers le haut le niveau du signal analogue en 

grandes étapes. 
Touche douce 5 Régler haut Elle ajuste vers le haut le niveau du signal analogue en petites 

étapes. 
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EINLEITUNG 
Dieses Analog-Kit ist für die Defender® 5000 TD52-Anzeigen. 

SCHNITTSTELLENINSTALLATION 
Für TD52P: 

1. Trennen Sie die Anzeige von der Basis, indem Sie Kabelsteckeranschlussbuchsen des 
Lastzellenkabels lösen. Entfernen Sie die Abdeckung der Schnittstellenoption.    

 
2. Brechen Sie die Rippe der Abdeckung der Schnittstellenoption wie abgebildet ab. 

 
 

3. Verbinden Sie den im Lieferumfang enthaltenen 12-poligen Kabelstecker mit dem 
Hauptplatinenanschluss 2. Setzen Sie den Ferrit wie gezeigt in den Schlitz des hinteren 
Gehäuses.    

 

Schnittstellenoption Abdeckung 

Kabelstecker für Wägezelle 

Rippe 

Ferrit 

Hauptplatinenanschluss 

Kabel 
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4. Installieren Sie die aktuelle Loopplatine. Sichern Sie sie mit 2 Schrauben. Schließen Sie 
das Kabel an den 12-poligen Stecker der Stromschleifenplatine an. 

 
5. Schließen Sie das Stromschleifenkabel an die 3-poligen und 3-poligen Steckverbinder an. 

            

 
In Pfeilrichtung  
(von unten nach oben) 

Beschreibung Stift 

V- Negativer Spannungsausgang J2 
V+ Positiver Spannungsausgang 
GND Boden 
I- Negativer Stromausgang J3 
I+ Positiver Spannungsausgang 
GND Boden 

 
 
 
 
 
 

Schraube 

12-poliger Stecker 

3-polige / 3-polige Steckverbinder 

Stromschleifenkabel 
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6. Befestigen Sie das Kabel mit dem Kabelbinder. Setzen Sie die Abdeckung der 
Schnittstellenoption wieder auf das Terminal.  

             
 
Für TD52XW: 

1. Entfernen Sie die Abdeckung der Schnittstellenoption. Entfernen Sie die 6 Schrauben mit 
versiegelter Unterlegscheibe. Entfernen Sie den M25-Lochstopfen wie gezeigt.          

              
2. Nehmen Sie das hintere Gehäuse wie gezeigt vom vorderen Gehäuse herunter. 

                   

Kabelbinder aus 
Nylon 

Wägezelle Kabelstecker 

Schrauben 

M25 Hole plug 



DE-4 
 

3. Verbinden Sie das Kabel mit dem Hauptplatinenanschluss 2. Setzen Sie den Ferrit wie 
gezeigt in den Schlitz des schwarzen Teils.  

 
 

4. Zerlegen Sie die Kabelverschraubung, indem Sie die Überwurfmutter lösen und die 
Gummidichtung entfernen.  Führen Sie den Relaisausgang durch die Überwurfmutter, 
spreizen Sie die Gummidichtung und legen Sie sie über das Kabel. Führen Sie nun das 
Kabel durch den Körper der Kabelverschraubung. 

             
 
 

5. Installieren Sie die Relaisplatine. Sichern Sie es mit 2 Schrauben. (Hinweis: Boss-Post ist 5 
und 7). Schließen Sie das Kabel an die 12-poligen Anschlüsse der Stromschleifenplatine 
an.  
 

 
 

Hauptplatinenanschluss 2 

Ferrit 

Kabel 

M25 Gland 

Überwurfmut

4-20 mA Stromschleife 
Ausgangskabel 

Chef Beitrag 5,7 
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6. Stecken Sie das Stromschleifenkabel durch das M25-Loch. Schließen Sie es an den 3-
poligen und 3-poligen Stecker an. 
 

 
 

7. Setzen Sie das hintere Gehäuse wieder auf das vordere Gehäuse. Bringen Sie die 6 
Schrauben wieder an.  

                      
 

8. Ziehen Sie die Überwurfmutter der M25 Verschraubung am hinteren Gehäuse fest.  

              

 

Schraube 

3-poliger / 3-poliger 
Stecker 

12-poliger Stecker 

Stromschleifenkabel 

 Stromschleifenkabel 

Überwurfmutter der M25-Verschraubung 
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9. Kürzen Sie die Gummidichtung auf dem Stromschleife Ausgangskabel und drücken Sie sie 
in das Loch. 

                       
Für TD52XW mit umgekehrter rückwärtiger Abdeckung: 

1. Entfernen Sie die Abdeckung der Schnittstellenoption. Entfernen Sie die 6 Schrauben mit 
versiegelter Unterlegscheibe. Entfernen Sie den M25-Lochstopfen wie gezeigt. 

    

2. Nehmen Sie das hintere Gehäuse wie gezeigt vom vorderen Gehäuse herunter. 

               

Gummidichtung 

M25 Lochstopfen 

Schraube 

Wägezelle Kabelstecker 
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3. Schließen Sie das Kabel an den Hauptplatinenanschluss 2 an.  

 
 

4. Zerlegen Sie die Kabelverschraubung, indem Sie die Überwurfmutter lösen und die 
Gummidichtung entfernen.  Führen Sie den Relaisausgang durch die Überwurfmutter, 
spreizen Sie die Gummidichtung und legen Sie sie über das Kabel.  Führen Sie nun das 
Kabel durch den Körper der Kabelverschraubung. 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Kabel 

Hauptplatinenanschluss 2

M25 Gland 

Überwurfmutter 

4-20 mA Stromschleife 
Ausgangskabel 
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5. Installieren Sie die Stromschleifenplatine. Befestigen Sie die Relaisplatine mit 2 Schrauben
(Hinweis: der Boss Post ist 6, 8). Schließen Sie das Kabel an den 12-poligen 
Steckverbinder der Relaisplatine an (Hinweis: Der Ferrit muss in der Nähe des 12-poligen 
Steckverbinders der Schnittstellenoptionsplatine positioniert werden).  

 
6. Stecken Sie das Stromschleifenkabel durch das M25-Loch. Schließen Sie es an den 3-

poligen und 3-poligen Stecker an.  

 
 

 
 
 
 

12-poliger Stecker 

Schraube 

Ferrit 

Chef Beitrag 6,8 

3-poliger / 3-poliger Stecker 

Stromschleifenkabel 
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7. Ziehen Sie die Überwurfmutter der M25 Verschraubung am hinteren Gehäuse fest. 
 

             
8. Kürzen Sie die Gummidichtung auf dem Ethernetkabel und drücken Sie sie in das Loch.  

       
 

9. Befestigen Sie die Überwurfmutter der M25-Verschraubung.  

 

ANALOGE KONFIGURATION 
Kommunikation Optionen (Fett ist Standard) 

Analog 

Quelle None, Angezeigtes Gewicht, ABS-Angezeigtes Gewicht, 
Bruttogewicht 

Ausgabetyp 4-20mA, 0-10V 
Nullwert 0 (irgendein gültiger Wert unter der oberen Grenze) 
Voll Skala Wert Gewünschter Quellwert, Skalierungskapazität 
Cal Ausgabe Null 
Cal Ausgabe Null   

Überwurfmutter der M25-
Verschraubung 

Gummidichtung 

Überwurfmutter der M25-
Verschraubung 
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SPEZIFIKATION 
Der Analogausgang liefert ein isoliertes Analogsignal von 4-20 mA oder 0-10 VDC. Der 
Analogausgang verwendet einen 16-Bit-D/A-Wandler für eine sehr genaue Ausgabe. 

 0-10 VDC 4-20 mA 
Maximale Kabellänge 50 Fuß (15,2 m) 1000 Fuß (300 m) 
Empfohlene Drahtgröße 0.5mm2   
Min./Max. Belastbarkeit Mindestens 100k Ohm Höchstens 500 Ohm 
Nichtlinearität <0.3 %F.S 
Ausgänge 1 Kanal, der 4-20 mA oder 0-10 VDC liefern kann 
Auflösung 16 Bit-Auflösung, 65536 Stufen über den gesamten Bereich 

 
Hinweis: Wenn die Belastbarkeitswerte überschritten werden, funktioniert der Analogausgang nicht 
ordnungsgemäß. 
 

ANALOGAUSGANGSKONFIGURATION 
Die Ausgangssignale liegen an der unteren Grenze (0 VDC oder 4 mA), wenn der dargestellte Wert 
den Nullwert erreicht. Wenn der Wert den Skalenendwert erreicht, steigt das Ausgangssignal auf die 
obere Grenze (10 VDC oder 20 mA). Jeder Wert zwischen dem Null- und dem Endwert wird als 
Prozentsatz des Ausgangs dargestellt, der proportional zum Prozentsatz des Wertes ist. 

ABS (absolut) Angezeigter Wert wird verwendet, wenn Material im Nettomodus von einer Waage 
weg übertragen wird. In diesem Fall ist das angezeigte Gewicht negativ, aber das analoge 
Ausgangssignal verwendet seinen absoluten Wert. Das Ausgangssignal wird zunehmen, wenn der 
absolute Gewichtswert ansteigt. 

Die Auswahl von Quelle und Ausgabeart bestimmt den Analogausgang, wenn die Waage bei 
Unterlast oder Überlast ist. Siehe folgende Tabelle: 

Quelle = Angezeigtes Gewicht, Ausgabeart = 4-20 mA 
Unterlast Wenn das angezeigte Gewicht (Brutto oder Netto) unter Null fällt, nimmt das 

Analogsignal weiter ab. Wenn es den Unterlastpunkt erreicht oder wenn es 
unterhalb der unteren Grenze des Analogsignalbereichs liegt, schaltet die 
Analogausgabe sofort auf ca. 0 mA um. In diesem Fall bleibt die Ausgabe 0 mA 
oder er wird korrekt ausgegeben. 

Überlast Wenn das angezeigte Gewicht (Brutto oder Netto) die Überlast übersteigt, nimmt 
das Analogsignal weiter zu. Wenn es den Überlastpunkt erreicht oder oberhalb 
der oberen Grenze des Analogsignalbereichs liegt, schaltet die Analogausgabe 
sofort auf ca. 24 mA um. In einer solchen Situation bleibt die Ausgabe 24 mA 
oder wird korrekt ausgegeben. 

Quelle = ABS - Angezeigtes Gewicht, Ausgabeart = 4-20 mA 
Unterlast 
 

Wenn ABS-Angezeigtes Gewicht ansteigt, steigt das analoge Ausgabesignal 
weiter auf die maximale Ausgabeleistung (20 mA) an. Wenn der Unterlastpunkt 
erreicht ist, schaltet die Analogausgabe sofort auf ca. 0 mA um. In einer solchen 
Situation bleibt die Ausgabe 0 mA oder wird korrekt ausgegeben. 

Überlast Dies ist nur möglich, wenn im Bruttomodus gewogen wird; es funktioniert in 
diesem Fall genauso wie die Standardeinstellung "Angezeigtes Gewicht".     
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Quelle = Bruttogewicht, Ausgabeart = 4-20 mA 
Unterlast Wenn das Bruttogewicht unter Null fällt, nimmt das Analogsignal weiter ab. Wenn 

es den Unterlastpunkt erreicht oder wenn es unterhalb der unteren Grenze des 
Analogsignalbereichs liegt, schaltet die Analogausgabe sofort auf ca. 0 mA um. 
In diesem Fall bleibt die Ausgabe 0 mA oder wird korrekt ausgegeben. 

Überlast Wenn das Bruttogewicht die Überlast überschreitet, steigt das Analogsignal 
weiter an. Wird der Überlastpunkt erreicht oder der positive Bereich des 
Analogsignals überschritten, schaltet die Analogausgabe sofort auf ca. 24 mA 
um und bleibt dort, bis das Anzeigegewicht nicht mehr überlastet ist oder das 
Analogsignal in den Bereich zurückkehrt. 

Quelle = Angezeigtes Gewicht, Ausgabeart = 0-10 VDC 
Unterlast Wenn das angezeigte Gewicht (Brutto oder Netto) unter Null fällt, nimmt das 

Analogsignal weiter ab. Wenn es den Unterlastpunkt erreicht oder wenn es 
unterhalb der unteren Grenze des Analogsignalbereichs liegt, schaltet die 
Analogausgabe sofort auf ca. 2,4 VDC  um. In einer solchen Situation bleibt die 
Ausgabe -2,4 VDC mA oder wird korrekt ausgegeben. 

Überlast Wenn das angezeigte Gewicht (Brutto oder Netto) die Überlast übersteigt, steigt 
das  
Analogsignal weiter an. Wenn es den Überlastpunkt erreicht oder oberhalb der 
höheren Grenze des Analogsignalbereichs liegt, schaltet die Analogausgabe 
sofort auf ca. 12,5 VDC um. In einer solchen Situation bleibt die Ausgabe 12,5 
VDC mA oder wird korrekt ausgegeben. 

Quelle = ABS - Angezeigtes Gewicht, Ausgabeart = 0-10 VDC 
Unterlast 
 

Wenn ABS – Angezeigtes Gewicht ansteigt, steigt das analoge Ausgabesignal 
weiter auf die maximale Ausgabeleistung (10 VDC) an. Wenn der Unterlastpunkt 
erreicht wird, schaltet die Analogausgabe sofort auf ca. -2,4 VDC. In einer 
derartigen Situation bleibt die Ausgabe -2.4 VDC oder wird korrekt ausgegeben. 

Überlast Dies ist nur möglich, wenn im Grobmodus gewogen wird; es funktioniert in 
diesem Fall genauso wie die Standardeinstellung "Angezeigtes Gewicht". 

Quelle = Bruttogewicht, Ausgabeart = 0-10 VDC 
Unterlast Wenn das Bruttogewicht unter Null fällt, nimmt das Analogsignal weiter ab. Wenn 

es den Unterlastpunkt erreicht oder unterhalb der unteren Grenze des 
Analogsignalbereichs liegt, schaltet die Analogausgabe sofort auf ca. -2,4 VDC 
um. In einer solchen Situation bleibt die Ausgabe -2,4 VDC mA oder wird korrekt 
ausgegeben. 

Überlast Wenn das Bruttogewicht die Überlast übersteigt, steigt das  
Analogsignal weiter an. Wenn es den Überlastpunkt erreicht oder oberhalb der 
oberen Grenze des Analogsignalbereichs liegt, schaltet die Analogausgabe 
sofort auf ca. 12,5 VDC um. In diesem Fall bleibt die Ausgabe 12,5 VDC mA 
oder wird korrekt ausgegeben. 
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Hinweis: 
1. Die Quelle-Option kann auf None, Angezeigtes Gewicht, ABS Angezeigtes Gewicht gestellt 

werden. None deaktiviert den analogen Ausgang. Wenn Angezeigtes Gewicht ausgewählt ist, 
basiert das Analogsignal auf dem angezeigten Netto- oder Bruttogewicht. Wenn Bruttogewicht 
ausgewählt wird, basiert das Analogsignal auf dem Bruttogewicht, unabhängig davon, wie das 
Nettogewicht sein könnte. 

2. Der Ausgabetyp kann auf 4-20 mA oder 0-10V eingestellt werden.    
3. Wenn die Skalenablesung Nullwert ist, wird der Analogsignalausgang 4 mA oder 0 V betragen. 

Normalerweise ist dies "0" und jeder Wert unterhalb der oberen Grenze ist verfügbar.    
4. Wenn das Ablesen der Skala der Volle Skalenwert ist, wird der analoge Signalausgang 20 mA 

oder 10 V betragen. In der Regel wird dies die Skalierungskapazität sein, aber es könnte 
niedriger sein.    

5. Nach Auswahl des Cal Ausgabe Null oder Cal Ausgabe Spanne-Untermenüs, kann der 
Analogausgang über die Softkeys an die Kundenanforderungen angepasst werden. Der Softkey 
ist wie folgt definiert: 
 

Softkey 1 Coarse Down Passt den analogen Signalpegel in großen Schritten nach unten an. 
Softkey 2 Fine Down Passt den analogen Pegel in kleinen Schritten nach unten an. 
Softkey 3 Exit Verlässt das Untermenü. 
Softkey 4 Coarse Up Passt den analogen Signalpegel in großen Schritten nach oben an. 
Softkey 5 Fine Up Passt den analogen Pegel in kleinen Schritten nach oben an. 
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INTRODUZIONE 
Il kit analogico viene usato con gli  indicatori delle bilance Defender® 5000 TD52. 

INSTALLAZIONE INTERFACCIA  
Per TD52P: 

1. Separare l'indicatore dalla base allentando il connettore maschio del cavo della cella di 
carico. Rimuovere la copertura dell'interfaccia come opzione. 

 

 
2. Rompere il bordo del coperchio dell’interfaccia in opzione, come mostrato. 

 

 
 

 

 

 

connettore maschio del cavo 
di carico 

coperchio dell'interfaccia 
opzionale 

costola 
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3. Collegare il cavo al connettore 2 del pannello principale, come mostrato. Porre la ferrite 
nella scanalatura dell’alloggiamento posteriore, come mostrato.     
 

 
 

4. Installare il pannello del circuito di corrente.  Fissarlo con 2 viti. Collegare il cavo al 
connettore del pannello del circuito di corrente a 12 pignoni . 

 
5. Collegare il cavo del circuito di corrente a 3 pignoni e ai connettori a 3 pignoni. 

 

            

ferrite 

connettore della 
scheda principale 2 

cavo 

vite 

Connettore a 12 pin 

Connettori 3 pin / 3 pin 

cavo del loop di corrente 
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Nella direzione della freccia (dal basso verso 
l'alto) 

Descrizione perno 

V- Uscita di tensione negativa J2 
V+ Uscita di tensione positiva 
GND Terra 
I- Uscita a corrente negativa J3 
I+ Uscita di tensione positiva 
GND Terra 
 

6. Fissare il cavo con la fascetta del cavo. Riporre il coperchio d’interfaccia in opzione sul 
terminale.  

             
 
Per TD52XW: 

1. Rimuovere il coperchio d’interfaccia in opzione. Rimuovere le 6 viti con la rondella a tenuta 
stagna. Rimuovere il tappo forato M25, come mostrato.  

              

 

fascetta di nylon 

connettore femmina del cavo di carico 

viti 

Tappo foro M25 
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2. Abbassare l’alloggiamento posteriore dall’alloggiamento anteriore, come mostrato. 

                   

3. Collegare il cavo al connettore 2 del pannello principale. Porre la ferrite nella scanalatura 
della parte in nero, come mostrato.  
 

 
4. Smontare il passacavo allentando il coperchio a dado e rimuovendo la tenuta stagna in 

gomma.   Passare il relè di output attraverso il coperchio a dado e quindi spandere la 
tenuta stagna in gomma e porla sul cavo.  Ora, passare il cavo attraverso il corpo del 
passacavo.  
 

             

connettore della scheda principale 2 

ferrite 

cavo 

M25 Ghiandola 

Dado a cappuccio 

Cavo di uscita del loop di 
corrente 4-20 mA 
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5. Installare il pannello relè. Fissarlo con 2 viti. (Nota: Sede di Bugna è 5 e 7.) 
Collegare il cavo al pannello del circuito di corrente ai connettori a 12 pignoni.          

 

 
             

6. Porre il cavo circuito di corrente attraverso il foro M25. Collegarlo ai 3 pignoni e ai 3 pignoni 
del connettore. 

 

 
 

7. Riporre l’alloggiamento posteriore nell’alloggiamento anteriore. Reinstallare le 6 viti.   
 

                    
                
 

post di capo 5,7 

vite 

Connettore 3 pin / 3 pin 

Connettore a 12 pin 

cavo del loop di corrente 

cavo del loop di corrente 
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8. Fissare il coperchio a dado del passacavo M25 nell’alloggiamento posteriore. 

              
9. Svergolare la tenuta stagna in gomma nel Cavo di uscita del loop corrente e spingerlo nel 

foro.  
 

            

 

Per TD52XW con coperchio posteriore invertito: 
1. Rimuovere il coperchio d’interfaccia in opzione. Rimuovere le 6 con la rondella a tenuta 

stagna. Rimuovere il tappo forato M25, come mostrato. 
 

    

tappo a vite della ghiandola 
M25 

guarnizione in gomma 

Tappo foro M25 

vite 

connettore femmina del 
di i
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2. Abbassare l’alloggiamento posteriore dall’alloggiamento anteriore, come mostrato. 

               

3. Collegare il cavo al connettore 2 del pannello principale. 

 
4. Smontare il passacavo allentando il coperchio a dado e rimuovendo la tenuta stagna in 

gomma. Passare il relè di output attraverso il coperchio a dado e quindi spandere la tenuta 
stagna in gomma e porla sul cavo.  Ora, passare il cavo attraverso il corpo del passacavo.  
 

     
 
             

cavo 

connettore della scheda 
principale 2 

Ghiandola M25 

cap noce 

Cavo di uscita del loop di 
corrente 4-20 mA 
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5. Installare il pannello del circuito a cavo. Fissare il pannello relè con 2 viti. (Nota: sede di 
bugna è 6 e 8.). Collegare il cavo al pannello relè del connettore a 12 pignoni. (Nota: il 
ferrite deve essere collocato presso il pannello d’interfaccia in opzione  del collettore a 12 
pignoni.   

 

 
6. Porre il cavo circuito di corrente attraverso il foro M25. Collegarlo ai 3 pignoni e ai a 3 

pignoni dei connettori.       

 

 

Connettore a 12 pin 

vite 

ferrite 

post di capo 6,8 

Connettore 3 pin / 3 pin 

cavo del loop di corrente 
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7. Fissare il coperchio a dado del passacavo M25 all’alloggiamento posteriore. 
 

             
8. Svergolare la tenuta stagna in gomma nel cavo Ethernet e spingerlo nel foro. 

 

          
9. Fissare il coperchio a dado del passacavo M25. 

 

CONFIGURAZIONE ANALOGICA 
Comunicazione Opzioni (predefiniti in grassetto) 

Analogica 

Fonte Nessuna, Peso Visualizzato, Peso Visualizzato ABS, 
Peso Lordo 

Tipo di Output  4-20mA, 0-10V 
Valore Zero  0 (qualsiasi valore valido sotto il limite superiore)  
Valore con Bilancia a 
carico Pieno  Valore della fonte desiderato, capacità della bilancia 

Taratura di Output Zero  
Taratura di Output Pieno   

tappo a vite della ghiandola M25 

guarnizione in gomma 

tappo a vite della ghiandola 
M25 
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SPECIFICHE 
L’output analogico fornisce un 4-20 mA isolato o un segnale analogico 0-10 VDC. L’output analogico 
usa un convertitore 16-bit D/A per un output molto preciso.  

 0-10 VDC 4-20mA 
Massima Lunghezza del Cavo  50 ft (15,2 m) 1000 ft (300 m) 
Dimensione del filo 
consigliata 

0.5mm2   

Min/Mass Resistenza al Carico 100k ohms minimo 500 ohms massimo 
Non linearità <0.3 %F.S 
Output 1 canale in grado di alimentare 4-20 mA o 0-10 VDC 
Risoluzione 16 risoluzioni bit, 65.536 livelli sull’intera gamma 

Nota: Se le resistenze dei carichi nominali dovessero essere superati, l’output analogico non 
funzionerebbe correttamente. 
 

CONFIGURAZIONE DI OUTPUT ANALOGICA 
I segnali di uscita saranno al limite inferiore (0 V CC o 4 mA) quando il valore rappresentato è al 
valore zero. Quando il valore raggiunge il valore massimo della bilancia a pieno carico, il segnale di 
output aumenterà fino al limite superiore (10 V CC o 20 mA). Qualsiasi valore compreso tra zero e il 
valore della bilancia a pieno carico verrà rappresentato come una percentuale dell'output 
proporzionale alla percentuale del valore. 

Il peso visualizzato ABS (assoluto) viene utilizzato quando il materiale viene trasferito su una 
bilancia in modalità Netto. In questo caso, il peso visualizzato sarà negativo, ma il segnale di output 
analogico utilizzerà il suo valore assoluto. Il segnale di output aumenterà man mano che il valore di 
peso assoluto aumenterà. 

La selezione di Fonte e Tipo di Output determina l'output analogico quando la bilancia è sotto carico 
o sovraccarico. Fare riferimento alla tabella seguente: 

Fonte = Peso Visualizzato, Tipo di Output = 4-20 mA 
Sotto Carico Quando il peso visualizzato (lordo o netto) scende sotto lo zero, il segnale analogico 

continua a diminuire. Quando raggiunge il punto di sotto carico, o è inferiore al limite 
inferiore della gamma del segnale analogico, l'output analogico commuterà 
immediatamente a circa 0 mA. In questo caso, l'output rimane 0 mA, o verrà emesso 
correttamente. 

Sovraccarico  Quando il peso visualizzato (lordo o netto) supera il sovraccarico, il segnale 
analogico continua ad aumentare. Quando raggiunge il punto di sovraccarico, o è 
superiore al limite superiore della gamma del segnale analogico, l'output analogico 
commuterà immediatamente a circa 24 mA. In questo tipo di situazione, l'output 
rimane 24 mA, o verrà emesso correttamente. 

Fonte = ABS - Peso Visualizzato, Tipo di Output = 4-20 mA 
Sotto carico 
 

Quando il peso visualizzato ABS aumenta, il segnale output analogico continua ad 
aumentare verso l’output massimo (20 mA). Quando raggiunge il punto di sotto 
carico, l'output analogico commuterà immediatamente a circa 0 mA. In questo tipo di 
situazione, l'output rimane 0 mA, o verrà emesso correttamente. 
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Sovraccarico È possibile solamente quando la peseta è nella modalità di lordo; in questo caso 
funziona nello stesso modo come l’impostazione standard “Peso Visualizzato”. 

Fonte = Peso Lordo, Tipo di Output = 4-20 mA 
Sotto Catico Quando il peso lordo scende sotto lo zero, il segnale analogico continua a diminuire. 

Quando raggiunge il punto di sotto carico o è inferiore al limite inferiore della gamma 
del segnale analogico, l'output analogico commuterà immediatamente a circa 0 mA. 
In questo caso, l'output rimane 0 mA, o verrà emesso correttamente. 

Sovraccarico Quando il peso lordo supera il sovraccarico, il segnale analogico continua ad 
aumentare. Quando il punto di sovraccarico viene raggiunto o la gamma analogica 
del segnale positivo viene superato, l'output analogico commuterà immediatamente a 
circa 24 mA e rimane in queta posizione finché il peso del display non è più 
sovraccarico o il segnale analogico ritorna entro la gamma 

Fonte = Peso Visualizzato, Tipo di Output = 0-10 VDC 
Sotto carico Quando il peso visualizzato (lordo o netto) scende sotto lo zero, il segnale analogico 

continua a diminuire. Quando raggiunge il punto sotto carico o è inferiore al limite 
inferiore della gamma del segnale analogico, l'output analogico commuterà 
immediatamente a circa -2,4 V CC. In questo tipo di situazione, l'output rimane -2.4 V 
CC mA, o verrà emesso correttamente. 

Sovraccarico Quando il peso visualizzato (lordo o netto) supera il sovraccarico, il segnale 
analogico continua ad aumentare. Quando raggiunge il punto di sovraccarico o è 
superiore al limite superiore della gamma del segnale analogico, l'output analogico 
commuterà immediatamente a circa 12,5 V CC. In questo tipo di situazione, l’output 
rimane 12,5 V CC mA, o verrà emesso correttamente 

Fonte = ABS - Peso Visualizzato, Tipo di Output = 0-10 VDC 
Sotto Carico Quando il peso visualizzato ABS aumenta, il segnale output analogico continua ad 

aumentare verso l'output massimo (10 V CC). Quando raggiunge il punto sotto 
carico, l'output analogico commuterà immediatamente a circa -2,4 V CC. In questo 
tipo di situazione, l'output rimane -2.4 VDC, o verrà emesso correttamente 

Sovraccarico È possibile solamente quando la pesatura è in modalità lorda; in questo caso 
funziona nello stesso modo dell’impostazione standard "Peso visualizzato". 

Fonte = Peso Lordo, Tipo di Output = 0-10 VDC 
Sotto carico Quando il peso lordo scende sotto lo zero, il segnale analogico continua a diminuire. 

Quando raggiunge il punto sotto carico o è inferiore al limite inferiore della gamma 
del segnale analogico, l'output analogico commuterà immediatamente a circa -2,4 V 
CC. In questo tipo di situazione, l’output rimane -2.4 V CC mA, o verrà emesso 
correttamente 

Sovraccarico Quando il peso lordo supera il sovraccarico, il segnale analogico continua ad 
aumentare. Quando raggiunge il punto di sovraccarico, o è superiore al limite 
superiore della gamma del segnale analogico, l'output analogico commuterà 
immediatamente a circa 12,5 V CC. In questo caso, l'output rimane 12,5 V CC mA, o 
verrà emesso correttamente. 

Nota: 
1. L'opzione Fonte può essere impostata su Nessuno, Peso Visionato, Peso visionato ABS, Peso 

Lordo. Nessuno disattiva l’output analogico. Quando viene selezionato Peso Visualizzato, il 
segnale analogico si basa sul peso netto o lordo visualizzato. Quando è selezionato Peso Lordo, il 
segnale analogico si basa sul peso lordo indipendentemente di quanto il peso netto potrebbe 
essere. 
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2. Il Tipo di Output può essere impostato su 4-20 mA o 0-10 V. 
3. Se la lettura della bilancia è Valore Zero, l’output del segnale analogico sarà 4 mA o 0V. In genere, 

questo sarà "0" e qualsiasi valore inferiore al limite superiore è disponibile. 
4. Se la lettura della bilancia è Valore della Bilancia a Pieno Carico, l’output del segnale analogico 

sarà 20 mA o 10V. In genere, questa sarà la capacità della bilancia, ma potrebbe essere inferiore. 
5. Dopo aver selezionato il sottomenu Tarare Output Zero o Tarare Output di Portata, l’output 

analogico può essere regolato per soddisfare le esigenze del cliente utilizzando i tasti 
programmabili. Il tasto programmabile viene definito come segue: 

 
Tasto programmabile 1 Manopola Regolazione 

di Massima 
Regola il livello del segnale analogico in giù 
a grandi passi 

Tasto programmabile 2 Manopola Regolazione 
di Minima 

Regola il livello analogico in giù a piccoli 
passi 

Tasto programmabile 3 Uscire Esce dal sottomenu. 
Tasto programmabile 4 Manopola Regolazione 

di Massima 
Regola il livello del segnale analogico in su 
a grandi passi 

Tasto programmabile 5 Manopola Regolazione 
di Minima 

Regola il livello analogico in su a piccoli 
passi 
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